ROREEZE Y v b No.8 (HHEIZEP.28~29)

<K >

[1](1) 5x?—45
=5(x%—9)
=5(x—3)(x+3)

(3) 2bx%— 4bx — 16b
= 2b(x? —2x —8)
=20(x—4)(x+2)

[2](1) (@a+D)x+ (a+by
A=a+btBLlL,
Ax + Ay

= A(x+y)
=(a+b)(x+y)

(3) (a+b)?+5(a+b)+6
A=a+btbBl &,
A2+5A+6

=(A+2)(A+3)
=(a+b+2)(a+b+3)

[3](1) mx—my
=m(x —y)

(3) 15xy — 9xy?
= 3zy(5 — 3y)

(5) 18a?b — 12ab
= 6ab(3a — 2)

REREE

(2) 3ax?+ 12ax + 12a
=3a(x?+4x +4)
= 3a(x + 2)2

(4) 4a?b — bx?
= b(4a® — x2)
=b2a+ x)2a—x)

(2) (x+3)2—T7(x+3)+10

A=xr+3&BLL,

A2 —TA+10
=(A—-5(A4—-2)
=(x+3-5)(r+3-2)
=(x—2)(x+1)

(4) 3x(2—y)—y+2
=3x2—y) +2—vy
A=2—y &b,
3rA+ A
=Bx+ DA
=@Bzr+DC—y)

(2) 2ab — 4b*
= ab(a — 2b)

(4) —14a® — 2lab + Ta
=—T7a2a+3b—1)

(6) 4abc + 16ab — 8bc
= 4b(ac + 4a — 2¢)



[4](1) 2%+ 10z +25
=(x+5H)?

(3) x%—64
=(zx—8)(z+8)

(5) 100 — 20y + y?
= y2 — 20y + 100
= (y — 10)?

(5](1) z%+4x+3
=(zx+3)x+1)

(3) z2—x—6
=(zx—3)(z+2)

(5) x2+5xr—14
=(x+7(x—2)

(7) a*—8a+12
=(a—6)(a—2)

(9) 28 — 16x + x?
=12 — 16x + 28
=(x—2)(x—14)

[6](1) 4a2— 12z — 40
= 4(x? —3x —10)
=4(x—5)(x+2)

(3) zly—vy
=y(ax?—1)
=ylr—D(x+1)

(5) (a—b)2—c?
A=a—btbLl &,
A2 —c?
=(A—c)(A+r¢)

=(a—b+c)la—b—c)

(2) a?— 14a + 49
=(a—T)*

(4) 25a* — 16b2
= (ba + 4b)(ba — 4b)

(6) 4x?+ 20x + 25
= (2 +5)?

(2) 224+x—2
=((x+2)(x—1)

(4) x*—3x—18
=(x—6)(x+3)

(6) x2—6x—16
=(x—8)(z+2)

8) a4+ 2a—3
=(a+3)(a—1)

10 —2x—3+ 22
=12—2x—3
=(x—3)(x+1)

(2) —3ax?+ 6axr — 3a
= —3a(x®?—2x+1)
= —3a(x —1)>

(4) alz+y)—3(x+7y)
=(a—3)(x+y)

(6) (a+0)*—4(a+b)+4
A=a+btE<L,
A2 —4A+4
— (A—2)
=(a+b—2)*



